MOTOBYP FPB 71 (38273)

/7 .

\ﬁ / ST
WA RN

T /(\,{‘ AV 4 ~. )

AN
&k \\ 10 o
'&};’ \\ \\ ‘__.
K, N
8 )
™ e
= N N2
= :: \\ Y
16~ A 8
17
- 17
O3ULIMU KOJI HAVMEHOBAHWE KOJI-BO
03.01.02.01.00* MOTOBYP 1
1 03.06.00* JIBUT'ATEJIb (HY-1E48F-LK) B CBOPE 1
2 03.10.0001 PEJIYKTOP B CEOPE 1
3 05.04.0014 BUHT (M6x25) 4
4 04.01.057.0005 JIEMII®EP (METAJUTMYECHI) 1
5 04.01.057.0006 JIEMII®EP (PE3MHOBBII) 1
6 04.03.025.0023 PYUKA 1
7 05.04.2201 BUHT (M5x40) 2
8 04.01.045.0034 KHOIIKA (BKJI/BBIKJT) 1
8
04.01.045.0007 . 1
9 TPUITEP B CBOPE C KHOITKOM (BKJI/BBIKJI)
9 04.01.045.0012 TPUITEP (BE3 KHOIIKI) 1
10 05.06.0901 [IAMBA 2
11 05.04.0401 BUHT (M6x25) 5
12 03.19.0001 AJIAIITEP [TPYKWUHHBIH (1103.1-10) 1
13 05.03.0202 3AXUM (tun D) 1
14 04.01.045.0003 TPOC I'A3A (JIBOMHOW) 1
[IIHEK (HY-HJJQ-S) (D100x L 800mm) 1
[IIHEK (HY-HJJQ-S) (D150x L 800mm) 1
15 [IIHEK (HY-HJJQ-S) (D200x L 800mm) 1
[IHEK (HY-HJJQ-S) (D250x L 800mm) 1
[IIHEK (HY-HJJQ-S) (D300x L 800mm) 1




16

HOX IIPSIMOM (HY-HJIQ-S) (D100mm)

HOX IPSIMOM (HY-HJIQ-S) (D150mm)

HOX IIPSIMOM (HY-HJIQ-S) (D200mm)

IIHEK (HY-HJJQ-S) (D250mm)

IIHEK (HY-HJJQ-S) (D300mm)

17

BUHT (M5x12)

18

HOX 3YBUATBII (HY-HJJQ-S) (D100mm)

HOX 3YBYATBIN (HY-HJIQ-S) (D150mm)

HOX 3YBUYATBIN (HY-HIJIQ-S) (D200mm)

HOX 3VBYATBIN (HY-HJIQ-S) (D250mm)

HOX 3VBYATBIN (HY-HJIQ-S) (D300mm)

[ I I S N B O e e e




	мотобур

